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����F_lh^heh]by

N2O bkihevam_lky \ f_^bpbg_ \ dZq_kl\_ h[_a[heb\Zxs_]h kj_^kl\Z

�^ey gZjdhaZ�� >Ze__ \ wlhf jZa^_e_ ij_^iheZ]Z_lky� qlh \_kv

bkihevah\Zgguc lZdbf h[jZahf N22 \ l_q_gb_ dhjhldh]h \j_f_gb

ihiZ^Z_l \ Zlfhkn_jm�

GZb[he__ lhqguc f_lh^ hp_gdb wfbkkbc N22 hkgh\u\Z_lky gZ ^Zgguo h

ihlj_[e_gbb wlh]h ]ZaZ� < wlhf kemqZ_ ij_^iheZ]Z_lky� qlh wfbkkby

jZ\gZ ]h^h\hfm ihlj_[e_gbx 122� ?keb ^Zggu_ h ihlj_[e_gbb g_

^hklmigu� \ dZq_kl\_ hp_gdb fh`gh bkihevah\Zlv ^Zggu_ h \\ha_ N2O \

\Zr j_]bhg aZ hlq_lguc i_jbh^� Lj_lvbf� f_g__ lhqguf f_lh^hf

y\ey_lky bkihevah\Zgb_ ^Zgguo h dhebq_kl\_ N2O, \dexq_ggh]h \ aZy\db
gZ ihklZ\dm wlh]h ]ZaZ \ l_q_gbb ]h^Z�

DZd ijZ\beh� ^Zggu_ h[ bkihevah\Zgbb N22 g_ kh[bjZxlky

p_gljZevgufb b j_]bhgZevgufb ih^jZa^_e_gbyfb =hkdhfklZlZ b

=hkdhfwdheh]bb� Ihwlhfm ki_pbZebklZf� hl\_lkl\_gguf aZ ijh\_^_gb_

bg\_glZjbaZpbb� ihlj_[m_lky kh[bjZlv bgnhjfZpbx \ f_^bpbgkdbo

mqj_`^_gbyo� h[jZsZlvky \ j_]bhgZevguc dhfbl_l ih hojZg_ a^hjh\vy

gZk_e_gby beb \ ij_^klZ\bl_evkl\Z dhfiZgbc ± ihklZ\sbdh\

f_^bpbgkdbo ij_iZjZlh\� AZ bgnhjfZpb_c h ihklZ\dZo 122 \ j_]bhgu

fh`gh lZd`_ h[jZsZlvky \ IH ³:ahl´ �]� Q_j_ih\_p�� ihkdhevdm hgh

y\ey_lky _^bgkl\_gguf ijhba\h^bl_e_f 122 \ Jhkkbb�

< ^Zggmx \_jkbx Jmdh\h^kl\Z g_ \dexqZxlky g_^hklZlhqgh

jZajZ[hlZggu_ \ gZklhys__ \j_fy f_lh^u jZkq_lZ wfbkkbc ^jm]bo

iZjgbdh\uo ]Zah\ �gZb[he__ \Z`gufb ba dhlhjuo y\eyxlky

g_f_lZgh\u_ m]e_\h^hjh^u� hl bkihevah\Zgby jZkl\hjbl_e_c b ^jm]hc

ijh^mdpbb�

����AZiheg_gb_�JZ[hqbo�ebklh\

<hkihevamcl_kv J:;HQBF EBKLHF ��� BKIHEVAH<:GB? N2O < F?>BPBG?

^ey \g_k_gby ^Zgguo wlh]h fh^mey�

Hp_gdZ wfbkkbc 12O

� Hp_gbl_ dhebq_kl\h 122� nZdlbq_kdb ihlj_[e_ggh]h� beb

ihklZ\e_ggh]h \ j_]bhg aZ ]h^� beb aZdZaZggh]h m ihklZ\sbdh\ b \g_kbl_

wlb ^Zggu_ \ dhghgdm : �\ lhggZo��

� Kdhibjmcl_ dhehgdm : \ dhehgdm < ^ey ihemq_gby wfbkkbc N22 \

lhggZo�

� JZa^_ebl_ dhehgdm < gZ ��
3
^ey ihemq_gby wfbkkbc 122 \ ]b]Z]jZffZo

b \g_kbl_ j_amevlZl \ dhehgdm K�
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